NAME:_____________________DATE:________CLASS:______________________

LAB ACTIVITY

TITLE: Average Atomic Mass

PURPOSE: To determine the equivalent of the “ average atomic mass” of a dried pea, a   


        dried bean, and a grain of rice.

                    To use these values to estimate the number of peas, beans or grains of rice 

                    in a sample. Each of these objects is too small to weigh accurately one by 

                    one, so a larger sample is weighed and divided by the number of objects

                    in the sample to find the individual mass. The calculated atomic mass is 

                    then used to estimate the number of objects in a sample of known mass.

MATERIALS: (Groups of two students.)


        Centigram balance

                    Peas  (250)

                    Beans (250)

                    Rice (250)

                    Calculator 

                    Three small paper cups

PROCEDURE: 

1. Weigh an empty cup. (Assume same weight for all cups.)

2. Determine the mass of 20 dry beans.

3. Calculate the mass of one bean. (This is a derived value.)

4. Set your balance at a mass determined by the formula:

                   Mass of one bean x 100  = _________

5. Add enough beans to the pan to balance the beam.

6. Repeat steps 2-5 for the rice and the peas.

7. Place all values in the data table shown below.

	
	Beans
	Peas
	Rice

	Mass of Cup
	
	
	

	Mass of Cup + 20 Seeds
	
	
	

	Mass of 20 Seeds
	
	
	

	Calculated Mass of 1 Seed
	
	
	

	Calculated Mass of 100 Seeds
	
	
	

	Actual Number of Seeds

To Zero Balance
	
	
	


ANALYSIS: 

1. Assume that 12 peas have a mass of 48.00 g.  Find the mass of 6 peas.     (To the nearest .01 g.)
2. Determine the mass for 100 grains of rice if 250 grains have a mass of 7.50 g. (To the nearest .01 g.)
3. The mass of 1 grain of rice is 0.020g. How many grains are in 1lb? (0.453 kg)

4. The mass of 6.02 x 1023 atoms of copper is 63.5 g. Find the mass of one

atom.

5. The percentage error in the predicted number of “seeds: for this 

experiment is equal to the absolute value of the following expression:

  Counted number of seeds – 100      X       100  =   % Error

                                              100         
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